M/% 3+6

1x(2udE-D4+1 pBE\/ssm

K.K. 717

3/ C-925
K.K. 709

M/Z 3+6

1x(2pdE-D4+1pdE-D7) /701

M/T 2+0/(E)/N(2xIB pavo) /10

M/T 1+0+1udE-B7/(E)/N(2xllpove) /135m

M/ C-911

M/T 2+0/(E)/N(2xIB povo) /185m

\

ML 378

M/T 1+0+1pdE-B7/

M/Z 3+4
1x(2uUdE-D4+1udE-D7) /155m

M/Z 3+4
1x(2udE-D4+1udE-D7) /110m

MR 387
K.K. 38,7

M/Z 3+6
1x(2udE-D4+1udE-D7) /440m

1x(2pdE-D4+1pdE-D7) /28m

M/Z 3+6
1x(2pdE-D4+1pdE-D7) /100

M/z 3+6

1x(2pdE-D4+1pdE-D7) /135

TR 387
A

M/Z 3+4
1%(2udE-DA+1udE-D7) /93m

M/Z 3+4
/ 1x(2pdE-D4+1pdE-D7) /122m

/

| T/




